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Sub questions

Question Number : 1 Question Id : 68634048300 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 2 Question Id : 68634048301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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T H Wifgd g1 @01 Hbd Bl 87
. SEEE 1 g &1 3ey gl
ST ¥ e &1 8T
i &1 949G 5

YU & GHY Ui&d! o1 3|

oy

| )

L

=Y

Options :

686340190805. 1
686340190806. 2
686340190807. 3
686340190808. 4

Question Number : 3 Question Id : 68634048302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Question Number : 4 Question Id : 68634048303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 68634048304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Id : 68634048299 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634048300 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. T
4. HgIdh[dl
Options :
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Question Number : 2 Question Id : 68634048301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340190806. 2
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Question Number : 3 Question Id : 68634048302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 68634048303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 68634048304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Sub-Section Number : 2
Sub-Section Id : 6863401574
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634048305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 68634048305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634048306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634048306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 68634048307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 68634048307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 68634048308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 68634048308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634048309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634048309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 68634048310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 68634048310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634048311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634048311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

520 Hie T TP IAS! 84 km/h B 7110 T SIS 381 &1 T8 IS U HISH! I UR - § fdoa-1 999
AT S YerTe! B fG=T H 61 6 kin/h B A YIS |

1. 18 505
20 UHUS
3.24 TS
4,28 OPHUS
Options :
686340190845. 1
686340190846. 2

686340190847. 3
686340190848. 4

[

Question Number : 13 Question Id : 68634048312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS IS &I TR ¥ U @5 o G161 797 § | 4fE 9% g0 el & Wiad U gueR I Jadl ¢ aul 3%
TR 56° BT HI0T §11d §U 22 m 1 g1 97 aRall ¢, ol TR 1 el © (n = %j

—

; 22-1—111
2

|

. 30m

3.28m
4. 353111

Options :

686340190849. 1
686340190850. 2
686340190851. 3
686340190852. 4

Question Number : 13 Question Id : 68634048312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634048313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634048313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340190855. 3
686340190856. 4

Question Number : 15 Question Id : 68634048314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634048314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634048315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634048315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340190862. 2
686340190863. 3
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Question Number : 17 Question Id : 68634048316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634048316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634048317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634048317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634048318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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[
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Question Number : 19 Question Id : 68634048318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 20 97 2023 &1 HIGAR 8. T 20 T[T 2019 P G H1 P 7 57 4TI
1. HI@AR
 HIHAR

YhaAR
4, §eHfdar

Options :

686340190873. 1
686340190874. 2
686340190875. 3
686340190876. 4

[
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Question Number : 20 Question Id : 68634048319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340190877. 1
686340190878. 2

686340190879. 3
686340190880. 4

Question Number : 20 Question Id : 68634048319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4 E
Options :
686340190877. 1
686340190878. 2

686340190879. 3
686340190880. 4

Question Number : 21 Question Id : 68634048320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
forg fefe=r ek & 31ei ugell Yo g o7 TS|
ECIRECKEE

TS i
1S dea

4. @8 e

Options :

686340190881. 1
686340190882. 2
686340190883. 3
686340190884. 4

a—y

[

L]

Question Number : 21 Question Id : 68634048320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



forg e ek & 31 uech Y9d g+ S TS
1. 1S Sl

TS i
1S dea

4. @8 e

Options :

686340190881. 1
686340190882. 2
686340190883. 3
686340190884. 4

[

L]

Question Number : 22 Question Id : 68634048321 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

A T 11
YR AR &7 s Hiftre sfter

A |sid=sg 14 L [G9Hd &1 3iigdR

B. [3rT=a 22 I1. [FoR d¢ oiad & AedR

C. [srg=de 25 111 [e1fie ¥d=ddl &1 DR
D. |3 =5¢ 32 IV. [Fifdene STERI &1 ifUeR]
frgfarad faeedl & I 98t SR &1 901 DI :

1. A-II, B-I1. C-III, D-IV
2. A-LB-I1, C-II1. D-IV
3. A-IL B-1. C-IV, D-III
4. A-I. B-II. C-IV, D-III

Options :

686340190885. 1
686340190886. 2
686340190887. 3
686340190888. 4

Question Number : 22 Question Id : 68634048321 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

A 11
YRE SR #1 oY Hiftre sfier
A |3esg 14 L [G9Hd 31 TR
B. [3rT=a 22 I1. [FoR d¢ oiad & AedR
C. [srg=de 25 111 [e1fie ¥d=ddl &1 DR
D. |3 =5¢ 32 IV. [Fifdene STERI &1 ifUeR]
fFafaRad fawedl § ¥ 96l SR &1 90 Sy ;

1. A-I1. B-1. C-II1. D-IV
2. A-1. B-I. C-II. D-IV
3. A-IL B-1. C-IV. D-III
4. A-I. B-II. C-IV. D-III

Options :

686340190885. 1

686340190886. 2

686340190887. 3
686340190888. 4

Question Number : 23 Question Id : 68634048322 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o Sgd 9 TIiel Bis! oidl § a1 39! [Ufas 391 aad ol g
1. TTfcret I
T 3a
3 IS
4. IS IS

Options :

686340190889. 1
686340190890. 2
686340190891. 3
686340190892. 4

[

L]

Question Number : 23 Question Id : 68634048322 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o S9@ 4 TIe Bie! ordl § ol sHe! RUfas 391 g5 ol g:-
1. TTfcret I

T 3a
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4. IS IS

Options :

686340190889. 1
686340190890. 2
686340190891. 3
686340190892. 4

[

L]

Question Number : 24 Question Id : 68634048323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
- gl YA fau e &
DY I: S0 WHR YA JIH1 HIH H 7T BT de1f-o ey Heufid ol g
®Y IL: 11 SR T, HaRTD a%q SHUHTH & dgd. Savu® a%] 76l o |
SRI DY & HTalid 1, H1d 2y 7Y fdeedi T I 99 Sugad SR &1 99 B

1. YT AR SHT TR &
2. Y1 AR SHI Tad &
3. YT TelI 8. fpT Sy 1 TTad ©

4, PYTITTOd. AP HYT I 98l §

Options :

686340190893. 1
686340190894. 2
686340190895. 3
686340190896. 4

Question Number : 24 Question Id : 68634048323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. BYT1 AR 11 el ©
2. HYF 1 3R 11 &I Tad ©
3. YT 1ol 6. A DY 1704 &

4, PYTITTOd. AP HYT I 98l §

Options :

686340190893. 1
686340190894. 2
686340190895. 3
686340190896. 4

Question Number : 25 Question Id : 68634048324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340190897. 1
686340190898. 2

686340190899. 3
686340190900. 4
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Question Number : 25 Question Id : 68634048324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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el
4 SSftreT
Options :
686340190897. 1
686340190898. 2

686340190899. 3
686340190900. 4
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Part B: Agro Forestry
Section Id : 686340952
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401575
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 68634048325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which statistics constants are employed to describe the characteristics of the population?

1. Mean. median, mode

[ )

. Number of observations in a sample
3. Biometry
4. Variable

Options :

686340190901. 1
686340190902. 2
686340190903. 3
686340190904. 4



Question Number : 26 Question Id : 68634048325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340190901. 1
686340190902. 2
686340190903. 3
686340190904. 4

Question Number : 27 Question Id : 68634048326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following i1s NOT a cause of desertification?

1. Increasing number of livestock and migrating graziers

[ ]

. Human population explosion
3. Industrial and mining activities
4. Intercropping

Options :

686340190905. 1
686340190906. 2
686340190907. 3
686340190908. 4

Question Number : 27 Question Id : 68634048326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340190905. 1
686340190906. 2
686340190907. 3
686340190908. 4

Question Number : 28 Question Id : 68634048327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The amount of energy reaching each trophic level depends on the net production of the producers at the base
of the food chain and the extent of energy transfer at each trophic level. This is known as-

1. Pyramid of productivity
2. Flow of energy
3. Ecological efficiency
4. Secondary Productivity
Options :
686340190909. 1
686340190910. 2

686340190911. 3
686340190912. 4

Question Number : 28 Question Id : 68634048327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340190909. 1
686340190910. 2
686340190911. 3
686340190912. 4

L]

=

Question Number : 29 Question Id : 68634048328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The diagnostic feature of Andisols 1s-

1. Young soil. usually wet with weak developed profiles

[

. Immature soils with no horizon development
3. Voleanic soils with minimum profile development
4. Temperate grassland soils

Options :

686340190913. 1

686340190914. 2

686340190915. 3
686340190916. 4

Question Number : 29 Question Id : 68634048328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340190913. 1
686340190914. 2
686340190915. 3
686340190916. 4

Question Number : 30 Question Id : 68634048329 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R

Assertion: A Relative cover of a species is the total cover of that species as a percentage of total cover of all
species present in the stand.

Reason R: Relative basal area 1s also called as relative dominance
In the light of above statements, choose the correct answer from the options given below
1. Both A and R are true and R is the correct explanation of A
2. Both A and B are true but R is NOT the correct explanation of A
3. A 1s true but R 13 false
4. A is false but R 1s true
Options :
686340190917. 1
686340190918. 2

686340190919. 3
686340190920. 4

Question Number : 30 Question Id : 68634048329 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340190917. 1
686340190918. 2
686340190919. 3
686340190920. 4

Question Number : 31 Question Id : 68634048330 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Insert stem: Alternate host of wheat rust disease is

A. Chenopodium plant
B. Berberry plant

C. Krishnanil plant

D. Parthenium grass

Choose the most appropriate answer from the options given below:
1. Aand B Only
2. C and D Only
3. B Only

4. A and D Only

Options :

686340190921. 1
686340190922. 2
686340190923. 3



686340190924. 4

Question Number : 31 Question Id : 68634048330 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

75 & 3% AT 1 fqepedl Ui I g 2

A FHOITSTH ST g
B. SR& &1 Ute

C. P let glen

D. Tieffas &1 gt
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1. %ad A IR B
2. %ad C AR D
3. $ad B
4.%ad A AR D

Options :

686340190921. 1

686340190922. 2

686340190923. 3
686340190924. 4

Question Number : 32 Question Id : 68634048331 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTIT
CO, Related change Effect
A Lowering Qf carbonate 1on I |Cord blssshmg
concentration
B. [Sea water temperature IL [ncrease_d phiytopiankton
production
C. |Dust borne iron deposition | TIT. Re.du.cnon i Gl fieatinmy in
building corals
D. [Foramimfera IV. |[White limestones

Choose the correct answer from the options given below:

1. A-I, B-IL. C-III. DIV

| B

. A-IIL B-I, C-II, D-IV
3. A-L B-IT1, C-IV. D-II
4, A-IV, B-II. C-1. DIII

Options :

686340190925. 1
686340190926. 2
686340190927. 3
686340190928. 4

Question Number : 32 Question Id : 68634048331 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-II. C-III. DIV

| B)

. A-IIL B-I, C-II, D-IV

[#5]

CA-LL B-III, C-IV, D-11
4. A-IV, B-II. C-I. DIII

Options :
686340190925. 1



686340190926. 2
686340190927. 3
686340190928. 4

Question Number : 33 Question Id : 68634048332 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange these soil forming processes in a sequence of their occurrence

A. The fragments are generated due to action of atmosphere. hydrosphere and biosphere
B. Profile Development

C. Parent rocks undergoes physical weathering

D. Chemical weathering dues to oxidation, carbonation and soleuviation

E. Plant residues deposit organic matter

Choose the correct from the options given below
1.A.€.D,E B
2.D,B,A,C.E
3.B;C.EDLA

4. C.A.D.E.B

Options :

686340190929. 1
686340190930. 2
686340190931. 3
686340190932. 4

Question Number : 33 Question Id : 68634048332 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. C.A.D.E.B
Options :
686340190929. 1
686340190930. 2

686340190931. 3
686340190932. 4

Question Number : 34 Question Id : 68634048333 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is the worst invasive plant in aquatic ecosystems-

1. Hydrilla

2. Eichornia crassipes

3. Fallisneria
4. Azolla

Options :

686340190933. 1
686340190934. 2
686340190935. 3
686340190936. 4

Question Number : 34 Question Id : 68634048333 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340190933. 1
686340190934. 2
686340190935. 3
686340190936. 4

Question Number : 35 Question Id : 68634048334 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s a C4 plant-

1. Wheat- Tiiticum gestivum

| )

. Com- Zea mays
3. Soybean- Glyeine max
4. Oats- Avena sp.
Options :
686340190937. 1
686340190938. 2

686340190939. 3
686340190940. 4

Question Number : 35 Question Id : 68634048334 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad 5 S 39 JrdiyT ¢, TeT &-
1.71g - focion reefan
2. 5T - foran A
3. HITEH - WA J9F
4. 375 (3ffe) - Wdi=1 Frfd

Options :



686340190937. 1
686340190938. 2
686340190939. 3
686340190940. 4

Question Number : 36 Question Id : 68634048335 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the primary cause of wood decay in forests

1. Insects

[ )

. Fungi
3. Fire
4. Harsh weather conditions

Options :

686340190941. 1
686340190942. 2
686340190943. 3
686340190944, 4

Question Number : 36 Question Id : 68634048335 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a1 H 1Y & UL BT HI HRUT I &-
1. Ple

. hddh

| ]

3.3

i A

Options :

686340190941. 1
686340190942. 2
686340190943. 3
686340190944. 4

=

Question Number : 37 Question Id : 68634048336 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which pruning technique is used to remove damaged or diseased branches from fruit trees

1. Heading back

[

. Thinning out

L]

. Topping
4. Notching
Options :
686340190945. 1
686340190946. 2

686340190947. 3
686340190948. 4

Question Number : 37 Question Id : 68634048336 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340190945. 1
686340190946. 2
686340190947. 3
686340190948. 4

Question Number : 38 Question Id : 68634048337 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R

Assertion: A The increase in CO; concentration in the atmosphere has been largely the result of fossil fuel

buring and deforestation.
Reason R: Carbon dioxide is the most important naturally occurring greenhouse gas present in the atmosphere.

In the light of above statements, choose the correct answer from the options given below

1. Both A and R are true and R 1s the correct explanation of A

[

. Both A and B are true but R 1s NOT the correct explanation of A
3. A s true but R 1s false

4, A is false but R is tiue

Options :

686340190949. 1
686340190950. 2
686340190951. 3
686340190952. 4

Question Number : 38 Question Id : 68634048337 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340190949. 1
686340190950. 2
686340190951. 3
686340190952. 4



Question Number : 39 Question Id : 68634048338 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Ecosystem has two major components- the biotic and abiotic component

Statement IT: The amount of organic substances. present at any given time in an ecosystem, is designated as
the STANING STATE or STANDING QUALITY

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statements I is correct but Statement IT is incorrect

4, Statement I is incorrect but Statement I1 is correct

Options :

686340190953. 1
686340190954. 2
686340190955. 3
686340190956. 4

Question Number : 39 Question Id : 68634048338 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
- gl ey fau e §:
HYT 1 URGA U & § °UTd 5- Gilde YT 3R SGldd ged

YA I U uRda ¥ &t te g9g § Sufiyd Sfds vl &t amn ot ©fén e @s! faufa) or €fén
BICT (EST T Hel oIl ¢ |

SWRIG Y & 3Tciieh H, i fau Y fdeedl § 9 9a8 Suged IR &1 99 SIfu;
1. Y1 AR BY I A 9el §

2. BYA 1 3R HYF 11 241 7Tad ©

3. FUTI 96l 6. AfpT pU 1 TTad ©

4, FYF 1 7T0d 8. AfhT HUT 11 el ©

Options :

686340190953. 1
686340190954. 2
686340190955. 3



686340190956. 4

Question Number : 40 Question Id : 68634048339 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

‘Water moisture content Defined as / Term

Portion of water readily absorbed
by plant roots.

Water that moves into, through
B. |Capillary water II.  Jand and out of the soil under
influence of gravity.

A |Gravitational water L

Water that fills the micropores of
the soil

v ‘Water held most tightly to soil

" |particles (31 bars of suction)

C. Hygroscopic water IIL

D. |Available water

Choose the correct answer from the options given below:

1. A-I. B-III, C- IV, D-II

| )

CA-IL B-IV, C-II1. D-I
3. A-IL B-III. C-IV, D-I
4. A-1. B-1I. C-III. DIV

Options :

686340190957. 1
686340190958. 2
686340190959. 3
686340190960. 4

Question Number : 40 Question Id : 68634048339 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

I
U
ST @I dg YT ol UIey wia! gRI

g8l i " |omar & st R e

. aE ofd ol Jal & 3G 3R a8
B. [@imoaa | IL qwaﬂﬁwnﬁlwg
. g It Sl 9ol S & &g &
c.miaagaa III.ﬁ ﬁ %

D [SUcil ol | IV. [a8 &Id ol gal & Sl § Tl 9§ oS 5idl § (9o ® 31 dR)
fafafad faeedl & O 981 IR &1 994 I ;

1. A-I. B-III. C-IV. D-II

I
EEENEIEIKIE

| )

A-IL B-IV, C-I1I1. D-1

LFN]

- A-IL B-III. C-IV. D-1
4. A-1. B-I1. C-III. DIV

Options :

686340190957. 1
686340190958. 2
686340190959. 3
686340190960. 4

Question Number : 41 Question Id : 68634048340 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which fruit requires a warm and humid climate with well-drained loamy soils?

1. Black pepper

| B

. Peach

LIF¥]

. Apricot
4. Coriander

Options :

686340190961. 1
686340190962. 2
686340190963. 3
686340190964. 4

Question Number : 41 Question Id : 68634048340 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FafeRad @ ¥ oY Bd 31 39 3R 3k Saar] 3R ! HRge ardl di a1 &1 Sa¥adl gkl o
1. it i
2. 5113
3. gal
4. yf-ran

Options :

686340190961. 1
686340190962. 2
686340190963. 3
686340190964. 4

Question Number : 42 Question Id : 68634048341 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion: Freshwater wetlands produce methane due to complete decomposition of organic matter.

Reason R: Methane concentration has more than doubled. since its concentration during the pre-industrial
times.

In the light of above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

-2

. Both A and B are true but R is NOT the correct explanation of A
3. Ais true but R 1s false

4. A is false but R is true

Options :

686340190965. 1
686340190966. 2
686340190967. 3
686340190968. 4

Question Number : 42 Question Id : 68634048341 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 & YA AU T §: TF @YU (Assertion A) F T 1 [IRGT § I GERI 39d BRI (Reason R) &
ESU gt

FUBYT A: B Tt & gul fge & SR AT IF & e He 19 31 Sarfed #d &
SRV R: G4-ee T 31 qaen § S & i gH o T 2
SRIS DY & 3HTald 1, 1< fdy 7Y f[deedi T I 99 Sugad IR 1 98- SIfoTe:

1. A SR R 3 981 € AR R. A Pl Jgl AR 8

2. A SR R HI U2 § 3R R. A P el e el &

. ATEI S AR IS R ©

4 AT RIS AFPIR TS E

Options :

686340190965. 1
686340190966. 2
686340190967. 3
686340190968. 4

Question Number : 43 Question Id : 68634048342 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Desertification is the improvement of areas of deserts that have very little cultivation. so as to
make the desert soil fertile.

Statement IT: Improper land use practices, over grazing, abusive land use, factory pollution, urbanization, ete
are factors that are responsible for climate change.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both Statement I and Statement IT are correct

2

. Both Statement I and Statement II are incorrect
3. Statements I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

686340190969. 1
686340190970. 2
686340190971. 3
686340190972. 4



Question Number : 43 Question Id : 68634048342 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R sy RRumE

HYT I TERADI Ad HH Fdlg &6 1 Tl o1 HaelH ¢ d1fcs Tyl &1 a1 Bl SUelg, S
ST e |

DY I ST Y STGIT YUY, 3ifd IR, TYUeR] YT IYGHT, SREMET TGyl eie 3fe d
PRSP © ol oiadg gRac & g STRar gl

SRIGI Y & 3HTaid 1, 1< 4y Y f[deedi T I 9 Sugad IR &1 98- BIfoie:
1. PYTI IR PYT I SHI Il &
2. HYA1 3R HYF 11 41 7Tad ©

3. YT TelI 8. fpT Sy 1 TTad ©

4. BYT17Td . AT YT I TSI &

Options :

686340190969. 1
686340190970. 2
686340190971. 3
686340190972. 4

Question Number : 44 Question Id : 68634048343 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is NOT an indicator of soil fertility and productivity

1. Soil pH
2. Soil color
3. Soil erosion
4. Crop performance

Options :

686340190973. 1

686340190974. 2

686340190975. 3
686340190976. 4

Question Number : 44 Question Id : 68634048343 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafafad o 9 o9 91 gar Saresdl 3R Jal 3a3d] &1 Y9 T8l ¢ :

1. Hal &1 pH

HET DT

[ ]

L]

&1 & UG

4. 4T T HaT-

Options :

686340190973. 1
686340190974. 2
686340190975. 3
686340190976. 4

Question Number : 45 Question Id : 68634048344 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The presence of diverse and active microbial population is an indicator of

1. Soil pH

2. Soil structure

LIPS ]

. Water holding capacity
4. biological activity

Options :

686340190977. 1

686340190978. 2

686340190979. 3
686340190980. 4

Question Number : 45 Question Id : 68634048344 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafde iR Tehtg Y& Sital oI S aeaT &1 Suleyfd o1 guiidl 82

. Hal T pH

AR e

—

| )

[#5]

. STe] YRUT &
4. Sifaepty Tiafafe

Options :
686340190977. 1



686340190978. 2
686340190979. 3
686340190980. 4

Question Number : 46 Question Id : 68634048345 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT used to measure relative humidity

1. Paper-strip hygrometer

| )

. Thermo-hydrograph
3. Psychrometer

4, Anemometer

Options :

686340190981. 1
686340190982. 2
686340190983. 3
686340190984. 4

Question Number : 46 Question Id : 68634048345 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[Fafefad o ¥ feuet 3udnT Qrufée siedl &1 219 § g fba1 | s -
RIrs el v )
rgehiticy

4, THRR

Options :
686340190981. 1
686340190982. 2

686340190983. 3
686340190984. 4

—

| )

[#5]

Question Number : 47 Question Id : 68634048346 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R

Assertion: A The response of plants to elevated concentrations of CO; 1s known as carbon-dioxide

fertilization effect.

Reason R: Under elevated concentrations of atmospheric CO, plants are able to increase their rate of

photosynthesis
In the light of above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

b2

. Both A and B are true but R 1s NOT the correct explanation of A
3. A s true but R 1s false

4, A is false but R is true

Options :

686340190985. 1
686340190986. 2
686340190987. 3
686340190988. 4

Question Number : 47 Question Id : 68634048346 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i1 g1 YA [T T §: U SHUPUT (Assertion A) B TY H [ARIT § ol GIRI 3UD BRI (Reason R) &
Eqh;

SHTUBUT A: Pla4 b a¢ gU HIGUI o Wi UIgdl &1 Hidlchal &l PlaH- Sig 3 aIgs Hy=d YHa & =4
g S gl

%?WWR:HMH.'aﬁﬁamaTsﬂHcogéiﬂmﬁuﬁq 3{U-T BT LAY Dl G DI g H 9&H gld
I

SWRIG Y & 3rciieh H, i fau Y fdeedl § 9 9ad Suged IR &1 99 SIfu;
1. A 3R R I &I € 3R R, A P! Jel AT ©
2. AR R EF T8l § AR R. AP el IR Tl 6

.ATE e Al R S el ©

4 AT TR APTIR TS B

Options :
686340190985. 1
686340190986. 2



686340190987. 3
686340190988. 4

Question Number : 48 Question Id : 68634048347 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A [National rural Infrastructure I. [Provide free LPG connections in rural areas
Provide access to financial services, banking

B. |Swarna Jayanti Gram Swarozgar| 11
and insurance to rural households.

Enhance rural connectivity through development

C. |Ujywala Yojana 118
fund of rural Infractive projects
D. |Pradhan Mantri Jan Dhan Yojanal IV. [Promote self emplovment and wage yojana opportunities

Choose the correct answer from the options given below:

1. A-I. B-II, C-III, D-IV

[ ]

CA-ITL B-L, C-II1, D-IV
3. A-IILL B-IV. C-1. D-II
4. A-IL B-III. C-I. D-IV

Options :

686340190989. 1
686340190990. 2
686340190991. 3
686340190992. 4

Question Number : 48 Question Id : 68634048347 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

T 1 I

. ITETOT &5 H g0 Tad el
A QT IO SRR | T Wmm%

- T =11 1 [ Harsif didh]
B. [wauf So=il 9/ TR | IL e e ey
: EITHIUT S{aOa T URAeHISH Bl
C. [3adl gieT 1L P B9 2T T T TR
D. [ St Ao | 1V FeRISTR 3R Jogel aiei] Haa3f ®f agH]

fafafad fawedl & O 9t IR &1 994 I :

1. A-L. B-II. C-III. D-IV

| )

cA-IL B-1. C-III. D-IV
3. A-IIL B-IV. C-1. D-II
4. A-I1, B-III, C-L, D-IV

Options :

686340190989. 1
686340190990. 2
686340190991. 3
686340190992. 4

Question Number : 49 Question Id : 68634048348 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Deficiency of which nutrient causes yellowing of leaves and stunted growth?

1. Iron
2. Zinc
3. Magnesium
4, Nitrogen

Options :

686340190993. 1

686340190994. 2

686340190995. 3
686340190996. 4

Question Number : 49 Question Id : 68634048348 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ferg diwes dcd 1 it & PR il diell usdl § iR Hafs: amfed gkl g2
1. SR
2. foi
3. AR
4. TGS

Options :

686340190993. 1
686340190994. 2
686340190995. 3
686340190996. 4

Question Number : 50 Question Id : 68634048349 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Increased UV-B radiations does not influence plants and aquatic ecosystems by-

1. Lowering crop yields and poor tree growth

[

. Lowering phytoplankton productivity in polar oceans

LIF¥]

. Altering the rate of photosynthesis and damage nucleic acids in plants
4. Increasing nutrient concentration in soil

Options :

686340190997. 1
686340190998. 2
686340190999. 3
686340191000. 4

Question Number : 50 Question Id : 68634048349 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gdl-dl fafdull ot gfs fbdeh gR1 Ureyl 3R el gRdH! 1 wvifad =g ddl 6-

1. B BHd USER 3R SR 94 9fg gRI

2. Yd10 HENHIRI H ®H BIgciwie el $f IdEddl gRI

3. UeP TSI TRLINU &b &3 Bl YHIIdd Pep SR U1yl H Bsep 31l Bl & Ugdl B
4. 7al H Uiv® Higdl J gfs b

Options :



686340190997. 1
686340190998. 2
686340190999. 3
686340191000. 4

Question Number : 51 Question Id : 68634048350 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following pests commonly affect fruit trees in orchards
1. Aphids
2. Earthworms
3. Ladybugs
4. Bees
Options :
686340191001. 1
686340191002. 2

686340191003. 3
686340191004. 4

Question Number : 51 Question Id : 68634048350 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafafad & 9 oF ar oic garaag 9=l § Bl & sl Sl gHfdd ol o -
1' [ \.
delay
4. Al

| )

[#5]

Options :

686340191001. 1
686340191002. 2
686340191003. 3
686340191004. 4

Question Number : 52 Question Id : 68634048351 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Greenhouse gases are increasing due to industrial development. exponential increase in energy
production and use

Statement IT: Increase in the concentration of greenhouse gases 1s directly dependent upon anthropogenic
activities

In the light of the above statements. choose the most appropriate answer from the options given below
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statements [ is true but Statement IT is false

4. Statement I is false but Statement IT i1s true
Options :
686340191005. 1
686340191006. 2

686340191007. 3
686340191008. 4

Question Number : 52 Question Id : 68634048351 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Py RuTUE:

Elgl- BRaE (1F 8139) ™ e e Sul Ide- 3k 3ugi ¥ faehies gig & PR g6
|

FYF I TRAYE (JH 8139) T &1 Figal ¥ gia AHasi-d Tararedl ® gde@: R g
QRIS BYH & H1clid 1, A< f3u MU f[deedi § I 9 Sugad IR &1 98- SIifoiu:
1. PYT 1 IR PYT IS ol g

2. YA [ 3R B 11 ST Td &

3. FYTI9el 8. AP HUT 1 Tad §

4. HYT17T0d 8. AfpT PUT I Tl &

Options :

686340191005. 1
686340191006. 2
686340191007. 3
686340191008. 4



Question Number : 53 Question Id : 68634048352 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange these in a appropriate sequence: Following are the events of disease cycele of Fusarium. Arrange
them in appropriate sequence.

A. Collapsed and distorted vessels in infected stem.

B. penetration through cracks formed by emerging lateral roots.
C. Ring of discolored vessels in secondary xylem.

D. Germination of different types of conidia.

E. Lower branches begin to wilt.

1.B.C,IxA E
2.C.B.E.A.D
3.D.B.CAE

4 C,A.E.D.B

Options :

686340191009. 1
686340191010. 2
686340191011. 3
686340191012. 4

Question Number : 53 Question Id : 68634048352 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IBEISIEER! W (Fusarium) %ﬁﬂaﬁﬁm%ﬁﬂgﬁawﬁm@maﬁ :

A, TYTad 94 & arfea@taif (@9e) &1 e 3R fawam
B. G4 94 TSI gRI & fdal ¥ Uaw

c. fgdiae Sigey 4 fa=fug aifgersil #1 aag

D. fafi YR & SIHSarsi & yepe

E. =il =mrRaneft &1 =T (wilt)/ IR

i fau U fomedl § 9§ T8l 3R &1 99 DI |

1.B.C. D AE

2

.C.B.E.A.D
3D.BCAE
4. C,A.E.D.B

Options :

6863401910009. 1

686340191010. 2
686340191011. 3



686340191012. 4

Question Number : 54 Question Id : 68634048353 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Earth Observing System (EOS) Terra mission was launched by NASA in December. 1999 to

1. Monitor pollution levels in water

(B

. Quantitative estimation of water holding capacity
3. Understand the process of Global change
4. Mimimize the use of N, fertilizers

Options :

686340191013. 1

686340191014. 2

686340191015. 3
686340191016. 4

Question Number : 54 Question Id : 68634048353 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
91 ERI fSHaR, 1999 Gt H&ol YUMTEl (£0s) e v © @i &1 7T ot
1. 5iel § UguUl &R &1 FTRE 8d
. STETYTRUT &7l 1 U e e 8
A% ufkad ufshan &1 993 84

4. N, IA@ & IUUNT &I IAGH = 6

| ]

L#N]

Options :

686340191013. 1
686340191014. 2
686340191015. 3
686340191016. 4

Question Number : 55 Question Id : 68634048354 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Kalpavriksh was a program that started in 1971 to oppose the destruction of the green area in which of the
Indian cities.

1. Mumbai. Maharastra
2. Delhi

3. Trissur. Kerela

4. Bangalore. Krnataka

Options :

686340191017. 1
686340191018. 2
686340191019. 3
686340191020. 4

Question Number : 55 Question Id : 68634048354 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fers YR 2ER ¥ BRa &9 & 01 e & 71U 1071 § Pedger SRisHH Ry a1 a7 o7l
1. a5, HER1Y
et

4. GIAR, PACH

| )

[#5]

Options :

686340191017. 1
686340191018. 2
686340191019. 3
686340191020. 4

Question Number : 56 Question Id : 68634048355 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sequentially arrange the steps involved in primary autotrophic succession

A. Development of a base area without any life form (NUDATION)

B. Establishment of CLIMAX COMMUNITY

C. Successful establishment of a pioneer species in a base area (INVASION)

D. Individual compete with one another and affect each others life in various ways (COACTION)
E. Modification of the environment through the mfluence of living organisms on it (REACTION)

Choose the correct answer from the options given below:
1.ALD.B.C.E
2ZABDELC
3.CCALE.B.D

4. A .C.D.E.B

Options :

686340191021. 1
686340191022. 2
686340191023. 3
686340191024. 4

Question Number : 56 Question Id : 68634048355 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e WUt g § |ifed =Rl &1 hHaR Hafyd &<

A, farr foodt Site & 3MUR &7 &1 faerd (Femser)

B. TRH THEM & TG

C. YR & T IR (Pioneer) TSl &1 THa RITYAT (7d9)

D. wﬁ%mu%aﬁmaww@%%%ﬁﬁwﬁﬁuﬁepar:f(mm«am)
E. Sifqd Siidi & Y19 gR1 9aia=ur & =uiawor (Ruasm)

- fau Y fawedt & ¥ Hel ST o 90 Sivie:

1A DB CEE

2.A.B.D.E,C
3.C,ALE.B.D
4 A CDE.B

Options :

686340191021. 1
686340191022. 2
686340191023. 3
686340191024. 4



Question Number : 57 Question Id : 68634048356 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Fruit Climate conditions
A Mango 1. |Tropical climate and high humidity]
B. |Papava II. [Warm and humid climate
C. |Coconut ITI. |Warm and temperate climate
D. JApple IV |Tropical or sub tropical climate

Choose the correct answer from the options given below:

1. A-TV. B-I. C-II. D-ITI
2. A-L. B-II, C-IIL. D-IV
3. A-IV, B-I1, C-1. D-III
4. A-I11, B-1, C-IV. D-II

Options :

686340191025. 1

686340191026. 2

686340191027. 3
686340191028. 4

Question Number : 57 Question Id : 68634048356 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife
T 1 T I
)

TAaaIa® <2
A |oH 1. [Bursieadiy Saar] SR 3= 3lwdl
B. [gutar 1L [S[5 3R 3% Sidry
C. [Taa 111 |85 3R s Sear]
D. [Ud IV. [SWIG ey a1 U SieaHid Sidary
fAafaRad foweal & I Ogt SR &1 994 Difog -

1. A-IV, B-I. C-II, D-III
2. A-1. B-II. C-III. D-IV
3. A-IV. B-IIL. C-1. D-III
4. A-II1, B-1. C-IV. D-II

Options :



686340191025. 1
686340191026. 2
686340191027. 3
686340191028. 4

Question Number : 58 Question Id : 68634048357 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Banana bunchy top is caused by-

A, Bacteria
B. Fungus

C. Virus

D. Nematodes
E. Protozoans

Choose the most appropriate answer from the options given below:
1. Aand B Only
2. B and C Only
3. C Only
4, D and E Only

Options :

686340191029. 1
686340191030. 2
686340191031. 3
686340191032. 4

Question Number : 58 Question Id : 68634048357 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST a1 2 (S el BReR) e sRu Eldi ®
A. Sitarg]

B. Tad
c. fauy
D. HErs
E. HICTaila3f
- feu T faweal # 9 9ad S0gad S &1 99 DIt
1. Had A AR B
2. $Had B AR C
3.%ad C
4. %adD ARE
Options :
686340191029 1
686340191030. 2

686340191031. 3
686340191032. 4

Question Number : 59 Question Id : 68634048358 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The 'third generation pesticides' are given for

1. Juvenile

[ ]

. Moulting

3. Bram
4. Ant juvinile

Options :

686340191033. 1
686340191034. 2
686340191035. 3
686340191036. 4

Question Number : 59 Question Id : 68634048358 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191033 1

686340191034, 2

686340191035. 3
686340191036. 4
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Question Number : 60 Question Id : 68634048359 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Buttressess are commonly found in

1. Temperate ever green forest

b2

. Tropical ever green forest

LFS]

. Tropical rain forest
4. Tropical thorn forest

Options :

686340191037. 1
686340191038. 2
686340191039. 3
686340191040. 4

Question Number : 60 Question Id : 68634048359 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qa1 /8 AHIAa] HEl Ul §lld 6 -

1. it geTeEeR o

| ]

IUHICET IgEeR a1
Jurdhfedsdiy aui a9

[#5]

4, IUHICTHT dicd a-

Options :



686340191037. 1
686340191038. 2
686340191039. 3
686340191040. 4

Question Number : 61 Question Id : 68634048360 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following relation between Arithmatic mean (AM). Geometric mean (GM) and Harmonic mean
(HM) is correct?

1.AM.>HM. >G.M.

| )

AM<HM <GM.
JAM>HM <GM.

4. AM.=HM. > G.M.

Options :

686340191041. 1
686340191042. 2
686340191043. 3
686340191044. 4

Question Number : 61 Question Id : 68634048360 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tforfcr Tl (AM). SEIHIT A1 (GM) SR SId® H19 (HM) & &g Fafafead 4 3 o1 ddy Id 22

1.AM.>HM. >GM.
2. AM. <HM. <GM.
3.AM. >HM. <GM.
4. AM.=HM. >GM.

Options :

686340191041.

686340191042.

1
2
686340191043. 3
686340191044. 4

Question Number : 62 Question Id : 68634048361 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the infection process in an appropriate sequence

Agrobacterium tumefaciens causing tumor disease in plants-

A. Multiplication of genome to cause infection and disease
B. Chemotactic attraction of bacteria towards host roots

C. Integration in the target host system in nucle:

D. Activation of virulence system for the transfer of T-DNA
E. Formation of smgle-stranded DNA

Choose the correct answer from the options below:

1. B.ACED

| B

By BUOC A
3.D.E.C.A.B
1. A CDEB

Options :

686340191045. 1
686340191046. 2
686340191047. 3
686340191048. 4

Question Number : 62 Question Id : 68634048361 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aTeY] § 7116 IFT Idd S ale TR INgH cH %14 S HU Hichdl &l 36 H 3 aieyd o -

A. SfIF1T &1 SgTUH Y HUT 3R I I BT ©
B. TS@ S5 B 3R SIaT0] &1 SHICaed ATHHl
C. Digep! § Aied HolaM o H Thimul

D. T-DNA o RJ[aRUT & e1T araed o bl Yishgehul

E. U6hd $oiad SIE-U &I A
- fqu e faeedl H 9 91 SR o1 98- B

1.B,A,C.E.D

b2

B.ILE C A
3.3D.E.C.AB
4 A C.D.EB

Options :

686340191045. 1
686340191046. 2
686340191047. 3
686340191048. 4



Question Number : 63 Question Id : 68634048362 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Climate responses are defined as-

A. Climate change as long term alteration of temperature and typical weather patterns.
B. Climate mitigation are the actions taken to reduce or prevent GHG emissions.
C. CO, is the greenhouse gas produced by landfills, and livestocks.

D. Fossil fuels are renewable energy sources that minimally contribute in GHG emission
Choose the most appropriate answer from the options given below

1. B. D Only

| ]

. C. D Only

[F¥]

. A, B, C Only
4.B.C.D Only
Options :
686340191049. 1
686340191050. 2

686340191051. 3
686340191052. 4

Question Number : 63 Question Id : 68634048362 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Saar] YRRl 1 g T 5 ufeuiia far o &-

A, TIOHT SR I 119 UEid & diafafd gRady & &9 § sararg gikacd-

B. SoTaTg SN 8RR T8 19T (311,04 5i1.) & Ioi-l ] &H B T1 0%+ & 1078 &1 715 praaredi ol
C. CO, YH yHial 3R IYY- gRI Idifad 8d 78 (I 8139) T &

D. SfTaTer S TAPHRuig FHuil |id & o 8RR 8 719 (of.q=.5ff.) ScoiT # =gaH aivreH &d g

-4 fau T faeenl # 9 9ad SugSd SR &1 99 Hifort-
1.$dd B. D
2. $adC. D
3. PAU A, B.C
4, $4UB.C.D

Options :

686340191049. 1
686340191050. 2
686340191051. 3



686340191052. 4

Question Number : 64 Question Id : 68634048363 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Classes of world vegetation on the basis of temperature Example
A Megatherms [ |Alpine vegetation
B. PMesotherms II. |Tropical rain forest
C. Microtherms 1T, [Coniferous forest
D. [Hekistotherms IV, [Tropical deciduous forest

(e.g.: A-II, B-III, C-IV, D-I)
Choose the correct answer from the options given below:

1. A-III, B-I, C-IV. D-II

| )

. A-IL B-L, C-IV. D-III
3. A-II, B-1, C-III, D-1
4, A-L. B-IV, C-III, D-1

Options :

686340191053. 1
686340191054. 2
686340191055. 3
686340191056. 4

Question Number : 64 Question Id : 68634048363 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 i 11 9 i Sife
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Ao fRufeal & wﬁwﬁ%aﬂwﬁrﬁaﬁ Gg'jg?m
A [ I |ercre g3l
B. [Faid 1. [3widieddiy anl aq
C. [E@miug I [BI0eRI 8
D. [gih=ryd 1V, [SWIGhica T Uumrdt a-

fFrafarad fomed & 9 96 SR @1 924 DI ;

1. A-II1. B-1. C-IV. D-T1
2. A-IL B-1. C-IV. D-III
3. A-IL B-1. C-IIIL. D-1
4. A-1. B-IV. C-111. D-I

Options :

686340191053. 1

686340191054. 2

686340191055. 3
686340191056. 4

Question Number : 65 Question Id : 68634048364 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A sample m statistical analysis 1s defined as:-

1. A number of representative individuals from the population.
2. Living organisms growing continuously in an ecosystem.
3. Aggregation of individuals in a habitat.
4. Grouping of individuals of a particular property.

Options :

686340191057. 1

686340191058. 2

686340191059. 3
686340191060. 4

Question Number : 65 Question Id : 68634048364 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191057. 1
686340191058. 2
686340191059. 3
686340191060. 4
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Question Number : 66 Question Id : 68634048365 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The process of successful establishment of a species, as a result of adjustments with the conditions prevailing
there is called

1. Competion and coaction
2. Ecesis

3. Aggregration

4. Nudation

Options :

686340191061. 1
686340191062. 2
686340191063. 3
686340191064. 4

Question Number : 66 Question Id : 68634048365 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faerm uRfRufal & gy gomieH & aRummeey B ueid @1 9w RI9 $1 uikbar Searnd e-
i SR Hedriar
ERINE
 HBTABRT
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Options :

686340191061. 1
686340191062. 2
686340191063. 3
686340191064. 4

Question Number : 67 Question Id : 68634048366 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Why 1s canola oil preferred over oilseed rape?

1. Canola oil has better aroma than oil seed rape.

2. Canola oil has low concentration of erucic acid. which is a poisonous unpalatable compound.

LIPS ]

. Canola o1l 1s rich m saturated fatty acids.
4. Canola oil can be more easily transported as compared to oilseeds rape oil.
Options :
686340191065. 1
686340191066. 2

686340191067. 3
686340191068. 4

Question Number : 67 Question Id : 68634048366 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 ol $1 ga1 § ST od i i i 31 S §
1. X9 O e 1 g1 & HAren o B SR Y g g
A da H gD Si B Higdl P Bldl o ofl U [quIdig SRaay A gl
Sl O Hq9 aHg S § 9S e gl
4. FET X0 A0 BT J 5 e adt 1 P e ¥ uRae foar o1 gear |

[

L]

Options :

686340191065. 1
686340191066. 2
686340191067. 3
686340191068. 4

Question Number : 68 Question Id : 68634048367 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Fiber from stem| 1. |dquilaria ogalloca
B. |Flosses 1. |Cocos nucifera
C. ICoir IT1. |Ceiba pentandra
D. |[Wood o1l IV, |Slerculia villosa

Choose the correct answer from the options given below:

1. A-IV B-II C-I D-III

| )

A-IV B-III C-1T D-I
3. A-I B-II C-III D-IV
4, A-IIT B-1I C-IV D-I

Options :

686340191069. 1
686340191070. 2
686340191071. 3
686340191072. 4

Question Number : 68 Question Id : 68634048367 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1 D1 Y 11§ A Siforg
T T T I
A A TR 1 Eaggald saraar
B. [margg il Cacat i)
C. [®IsT 111 [B5a1 G=73]
D. [@1g dd V. [eRaled Gag
Fafeiad ldeedl d U Ugl SR &l 99 DIl

1. A-IV B-II C-1 D-III

|

CA-IVB-III C-II D-1
3. A-I B-II C-II D-IV
4. A-III B-1I C-IV D-I

Options :

686340191069. 1
686340191070. 2
686340191071. 3
686340191072. 4



Question Number : 69 Question Id : 68634048368 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Carbon mineralization test in soil is used to test the effects of chemical on indigenous microbes

Statement IT: Oxygen consumption inhibition in activated sludge is a respiration based test for testing the
effects of chemicals.

In the light of the above statements. choose the most correet answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false

3. Statements I is true but Statement 1T 1s false

4, Statement [ 1s false but Statement II is true

Options :

686340191073. 1
686340191074. 2
686340191075. 3
686340191076. 4

Question Number : 69 Question Id : 68634048368 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191073. 1
686340191074. 2
686340191075. 3
686340191076. 4

Question Number : 70 Question Id : 68634048369 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Plants exhibit adaptive traits to cope up with fire this includes

A Enhanced seed setting and reproduction
B. Long seed viability

C. Serotiny

D. Reduced seed germination

E. Sprouting of perennial buds

choose the correct answer from the options given below:

1. A, C,E Only

| )

.A. B, C Only
3.C.D. E Only

4.D. E Only

Options :

686340191077. 1
686340191078. 2
686340191079. 3
686340191080. 4

Question Number : 70 Question Id : 68634048369 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A, T I R SR gTedmed
B. &Y o sggemr

C. TRifeH

D. §fol §¥pe 1 fiRmae

E. GYaTe! BIcepIaf &1 3P

i fou 7Tt fawedl © § 9El STR &1 997 Fifult:
1.$PddA. C.E
2. $ad A, B.C
3. $adC, D.E
4. PAUD.E

Options :

686340191077. 1
686340191078. 2
686340191079. 3
686340191080. 4

Question Number : 71 Question Id : 68634048370 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R

Assertion A: The increased emission of CO, and CH, from boreal and tundra soils in response to

clevated CO; and temperature will have positive feedback effects on climate change.

Reason R: Spring phenology in boreal ecosystems does not respond to climate change trends.

In the light of above statements, choose the correet answer from the options given below
1. Both A and R are true and R is the correct explanation of A
2. Both A and B are true but R 18 NOT the correct explanation of A

3. Ais true but R is false

4, A is false but R is true

Options :
686340191081. 1
686340191082. 2



686340191083. 3
686340191084. 4

Question Number : 71 Question Id : 68634048370 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191081. 1
686340191082. 2
686340191083. 3
686340191084. 4

Question Number : 72 Question Id : 68634048371 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the purpose of applying mulch around fruit trees.

1. Reducing weed competition.

| )

. Increasing soil fertility

Lad

. Improving drainage
4. Promoting water retention

Options :

686340191085. 1
686340191086. 2
686340191087. 3
686340191088. 4



Question Number : 72 Question Id : 68634048371 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HAGR 3&l & HTH-U TS Hed & WaN $3- &1 341 Waio- o7
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Options :

686340191085. 1
686340191086. 2
686340191087. 3
686340191088. 4

Question Number : 73 Question Id : 68634048372 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s the main benefit of pruning in machine learning?

1. It reduces overfitting in a model.
2. It improves the accuracy of the model.
3. It increases the complexity of the model.
4. It speed up the training process.

Options :

686340191089. 1

686340191090. 2

686340191091. 3
686340191092. 4

Question Number : 73 Question Id : 68634048372 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191089. 1
686340191090. 2
686340191091. 3
686340191092. 4

Question Number : 74 Question Id : 68634048373 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following fruits require a tropical climate to thrive?

1. Mango

[

. Peach

LIF¥]

. Apple
4. Plum
Options :
686340191093. 1
686340191094. 2

686340191095. 3
686340191096. 4

Question Number : 74 Question Id : 68634048373 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FafeREad o fod od & Bar-Bad & [y Swrsieddia Siearg #1 sraadd sidl 62
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Options :
686340191093. 1

[
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686340191094. 2
686340191095. 3
686340191096. 4

Question Number : 75 Question Id : 68634048374 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Climate zones Characteristics of plants
A |Boreal 1. |Rosette shrubs, grasses, sedges.
argely evergreen coniferous trees, lichens
E. |Polar I
form ground cover, low shrubs and grasses
Broad leaved deciduous or evergreen trees,
C. [Nemoral III.
monsoon forests
Mesophytic and deciduous forest, many
D. |Tropical IV,
perennial herbs

Choose the correct answer from the options given below:

1. A-II. B-I. C-IV. D-IT1

| )

A-L B-II, C-III, D-IV
3. A-IV. B-1. CIII. D-II
4, A-III, B-IV. C-II, D-I

Options :

686340191097. 1
686340191098. 2
686340191099. 3
686340191100. 4

Question Number : 75 Question Id : 68634048374 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IL. B-1. C-IV, D-III

| )

CA-L B-II. C-III, D-IV
3. A-IV, B-1. CIII. D-II
4. A-ITL. B-IV. C-I1, D-I

Options :

686340191097. 1
686340191098. 2
686340191099. 3
686340191100. 4

Question Number : 76 Question Id : 68634048375 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s the purpose of establishing wind breaks mn an orchard?

1. Reducing wind speed.
2. Providing shade.
3. Enhancing pollination
4. Preventing soil erosion

Options :

686340191101. 1

686340191102. 2

686340191103. 3
686340191104. 4

Question Number : 76 Question Id : 68634048375 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191101. 1
686340191102. 2
686340191103. 3
686340191104. 4

Question Number : 77 Question Id : 68634048376 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is an environmental benefit of agroforestry?

1. Increased dependence on external inputs.

[

. So1l erosion

LF¥]

. Biodiversity conservation
4. monocropping

Options :

686340191105. 1

686340191106. 2

686340191107. 3
686340191108. 4

Question Number : 77 Question Id : 68634048376 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340191105. 1
686340191106. 2
686340191107. 3
686340191108. 4

Question Number : 78 Question Id : 68634048377 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The risk of new synthetic compounds can be assessed with the help of information on-

A. Structure of synthetic compound

B. Polarity of compound

C. Tendency of disperse in the environment
D. Persistence

E. Conversion to different forms

Choose the correct answer from the options given below

1. A. B. C Only

[ )

.C. D, E Only
3.A C.D Only
4. A.B.E Only

Options :

686340191109. 1
686340191110. 2
686340191111. 3
686340191112. 4

Question Number : 78 Question Id : 68634048377 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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D. &Y W gRT
E. falte =ui § =giarur gR1

i fou 7Tt fawedl © § 9El STR &1 997 Fifult:
1. Pdd A, B. C
2. $ae C,D.E
3. PAUA.C.D
4. PAU A, B.E

Options :

686340191109. 1
686340191110. 2
686340191111. 3
686340191112. 4

Question Number : 79 Question Id : 68634048378 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which nutrient deficiency causes necrosis or death of leaf tips and margins,

1. Zine

[ ]

. Molybdenum
3. Boron
4. Potassium

Options :

686340191113. 1
686340191114. 2
686340191115. 3
686340191116. 4

Question Number : 79 Question Id : 68634048378 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340191113. 1
686340191114. 2

686340191115. 3
686340191116. 4

[ ]
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Question Number : 80 Question Id : 68634048379 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the various steps of a generalized frame work for ecosystem restoration in a sequence

A. Plan of action

B. Synthesis of Information

C. Review

D. Restoration objectives

E. Tools. methods and monitoring

Choose the correct answer from the options given below:
1.E B.AE.D
2D B, O AE
3B.DAEC

4 A CD.B.E

Options :

686340191117. 1
686340191118. 2
686340191119. 3
686340191120. 4

Question Number : 80 Question Id : 68634048379 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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| o

.D,.B,C.AE
3 BLD.AE.C
4 A CD.B.E

Options :

686340191117. 1
686340191118. 2
686340191119. 3
686340191120. 4

Question Number : 81 Question Id : 68634048380 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s the trade-off of aggressive pruning in neutral networks?

1. Increased model complexity.
2. Longer training time.
3. Reduced interpretability of the model.
4. Potential loss of model accuracy.

Options :

686340191121. 1

686340191122. 2

686340191123. 3
686340191124. 4

Question Number : 81 Question Id : 68634048380 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340191121. 1
686340191122, 2

686340191123. 3
686340191124. 4

Question Number : 82 Question Id : 68634048381 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Highlights on global climate change based on IPCC IV Assessment Report, 2007 does not includes-

1. Concentration of atmospheric greenhouse gases.

b2

. Rise in sea level.
3. Possible implications of global climate change for India.
4. Dumping of agricultural waste in sea.

Options :

686340191125. 1

686340191126. 2

686340191127. 3
686340191128. 4

Question Number : 82 Question Id : 68634048381 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191125. 1
686340191126. 2
686340191127. 3
686340191128. 4

Question Number : 83 Question Id : 68634048382 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The purpose of intensive cultrvation is

A. To loosen the soil structure for better drainage
B. Faster root growth

C. Aeration

D. Incorporation of crop residue

Choose the correct answer from the options given below:
1. B and C Only
2. Cand D Only
3. A, C. and D Only

4. All of the above

Options :

686340191129. 1
686340191130. 2
686340191131. 3
686340191132. 4

Question Number : 83 Question Id : 68634048382 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191129. 1
686340191130. 2
686340191131. 3
686340191132. 4

Question Number : 84 Question Id : 68634048383 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ectomycorrhizal fungi are commonly found in the roots of trees belonging to family-

1. Myrtaceas
2. Dipterocarpaceae
3. Pinaceae
4. All of the above

Options :

686340191133. 1

686340191134.2

686340191135.3
686340191136. 4

Question Number : 84 Question Id : 68634048383 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191133 1

686340191134, 2

686340191135. 3
686340191136. 4
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Question Number : 85 Question Id : 68634048384 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Agroforestry can contribute to climate change mitigagtion through-

1. Increased greenhouse gas emission

b2

. Soil degradation

LFS]

. Carbon sequestration
4. Desertification

Options :

686340191137. 1

686340191138.2

686340191139. 3
686340191140. 4

Question Number : 85 Question Id : 68634048384 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
PaI-S! Seary gRad & I 1 fdge gRI IS & bl o-
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Options :
686340191137. 1
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686340191138.2
686340191139. 3
686340191140. 4

Question Number : 86 Question Id : 68634048385 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 1s labelled as Reason R

Assertion: A Glaciers in mountain areas and polar ice caps are particularly sensitive to temperature shifts.

Reason R: The Earth's ice cover acts as a protective mirror. reflecting a large portion of the sun's energy that
goes back into the space.

In the light of above statements, choose the correct answer from the options given below
1. Both A and R are true and R 1s the correct explanation of A
2. Both A and B are true but R is NOT the correct explanation of A

3. A is true but R is false

4. A is false but R is true

Options :

686340191141. 1
686340191142. 2
686340191143. 3
686340191144. 4

Question Number : 86 Question Id : 68634048385 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191141. 1
686340191142. 2
686340191143. 3
686340191144. 4

Question Number : 87 Question Id : 68634048386 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In high rainfall parts of Latin America. farmers grow dry beans using a traditional system known as

1. Shift cultivation

[

. Terrace farming
3. Slash mulch
4. Intercropping

Options :

686340191145. 1
686340191146. 2
686340191147. 3
686340191148. 4

Question Number : 87 Question Id : 68634048386 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191145. 1
686340191146. 2
686340191147. 3
686340191148. 4

Question Number : 88 Question Id : 68634048387 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Flocculation is the process by which dissolved chemicals are precipitated by physical. chemical
or biological action.

Statement IT: Catching and shredding of heavy solid matter in primary waste water treatment is practiced by
comminutor.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statements I is correct but Statement IT is incorrect
4, Statement I is incorrect but Statement II is correct

Options :

686340191149. 1

686340191150. 2

686340191151. 3
686340191152. 4

Question Number : 88 Question Id : 68634048387 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191149. 1
686340191150. 2
686340191151. 3
686340191152. 4

Question Number : 89 Question Id : 68634048388 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 'citrus type' is monoembryonic

1. Citron

2. Sour lime

L]

. Mandarin

4. Pummelo

Options :

686340191153. 1
686340191154. 2
686340191155. 3
686340191156. 4

Question Number : 89 Question Id : 68634048388 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191153. 1
686340191154. 2
686340191155. 3
686340191156. 4

Question Number : 90 Question Id : 68634048389 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The yellow pigment in papaya fruit is

1. Caricaxanthin

2. Carotene

LIF¥]

. Anthocyanin
4. Xanthophyll
Options :
686340191157. 1
686340191158. 2

686340191159. 3
686340191160. 4

Question Number : 90 Question Id : 68634048389 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340191157. 1
686340191158. 2
686340191159. 3
686340191160. 4

Question Number : 91 Question Id : 68634048390 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nitrogen is needed in large amount s by plants. Which of the following statement(s) is/are true for nitrogen.

A. Nitrogen occurs in every amino acid and is a major component of proteins.

B. It forms part of chlorophyll. therefore nitrogen- deficient plants show yellowing of leaves.

C. N, can be taken up directly from atmosphere by plants, therefore plants have 1-2% nitrogen as a
proportion of their dry weight.

D. Adequate supply of nitrogen in usable form 1s needed for normal flowering and fruit set in plants.

Choose the most appropriate answer from the given below:
1. A Only
2. A. B Quly
3.A.B.D Ouly

4. B, C,D Only

Options :

686340191161. 1
686340191162. 2
686340191163. 3
686340191164. 4

Question Number : 91 Question Id : 68634048390 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. $ad A
2. AU A B
3. PAUA.B.D
4. $aUB.C,D

Options :

686340191161. 1
686340191162. 2
686340191163. 3
686340191164. 4

Question Number : 92 Question Id : 68634048391 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sandal spike disease of Sandal (Santalum album) is caused by
1. Bacteria
2. Fungi
3.MLO
4. Virus

Options :

686340191165. 1
686340191166. 2
686340191167. 3
686340191168. 4

Question Number : 92 Question Id : 68634048391 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191165. 1
686340191166. 2
686340191167. 3
686340191168. 4

Question Number : 93 Question Id : 68634048392 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Tangible benefit of Forestry project is

1. Income distribution

[

. Improved standard of living

Lad

. National prosperity
4. Higher yield level

Options :

686340191169. 1

686340191170. 2

686340191171. 3
686340191172. 4

Question Number : 93 Question Id : 68634048392 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



686340191169. 1
686340191170. 2
686340191171. 3
686340191172. 4

Question Number : 94 Question Id : 68634048393 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statement is correct about pathogen infecting host system?

A. Fusarium vascular wilt mainly cause disease in wheat plant

B. Rust is a common disease symptom in India. caused by Puccinia graminig
C. Bacteria leaf blight in rice is caused by Magnaporthe oryzae

D. Neem based pesticides are effective in the management of rice diseases

Choose the most appropriate answer from the options given below:

1. A.B. C Only

| )

.B. C Only
3. C.D Only
4. B. D Only
Options :
686340191173. 1
686340191174.2

686340191175.3
686340191176. 4

Question Number : 94 Question Id : 68634048393 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191173. 1
686340191174. 2
686340191175. 3
686340191176. 4

Question Number : 95 Question Id : 68634048394 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dafferent steps of using GIS tool (Geographical Information System) are given below. Arrange them in
appropriate sequence.

A. Query and Analysis
B. Data manipulation
C. Visualization

D. Data input

E. Management

Choose the correct answer from the options given below:

1. DB EoA G

| )

.C.B.D.A.E

LFN]

ALC.D.E.B
4. C.A.B.E.D

Options :

686340191177. 1
686340191178. 2
686340191179. 3
686340191180. 4

Question Number : 95 Question Id : 68634048394 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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D. i3 &1 (Af4F 31 (521 3790)

E. H&=F (H-oH0)

A fau 7Y fawedt # 9 Tel 3R &1 90 Sifig:

1.D.B,E. A, C

[

.C,B,D,AE
33JAL.CD.E.B
4. C,A.B.E. D
Options :
686340191177. 1
686340191178. 2

686340191179. 3
686340191180. 4

Question Number : 96 Question Id : 68634048395 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Monoculture refers to-

1. Growmg diversity of crops and raising livestock

b2

. Growing only one crop at a time in a field.
3. Growing many crops together at a time and harvesting them once
4. Growing crops without use of any fertilizer

Options :

686340191181. 1
686340191182. 2
686340191183. 3
686340191184. 4

Question Number : 96 Question Id : 68634048395 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191181. 1
686340191182. 2
686340191183. 3
686340191184. 4

Question Number : 97 Question Id : 68634048396 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Nearly 47% of the world forests occur in

1. Temperate zone

2

. Tropical zone

[F5]

. Subtropical zone

4, Boreal zone
Options :
686340191185. 1
686340191186. 2

686340191187. 3
686340191188. 4

Question Number : 97 Question Id : 68634048396 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&% & TRTHT 47% & UTU W14 &-
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Options :
686340191185. 1



686340191186. 2
686340191187. 3
686340191188. 4

Question Number : 98 Question Id : 68634048397 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Various climatic requirements of different fruit plants are-

A. Cool climate and well drained soil, preferably acidic for plum cultivation
B. Warm humid climate with well drained soil for black pepper

C. Moderate climate with cool winters and warm summers for tea cultivation
D. Moderate climate. high humidity and cool winters for sugarcane cultivation

Choose the most appropriate answer from the options given below:
1. C.D Only
2. A B, C Only
3.B.C.D Only

4. A.C, D Only

Options :

686340191189. 1
686340191190. 2
686340191191. 3
686340191192. 4

Question Number : 98 Question Id : 68634048397 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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C. 91 B el & foru ds1 wal SR 71 il & A1y qeny Siaary

D. T3 & Wil & forg Iy Seiary, 3= Sigdl 3iR o afdat

1= f3u Tt fasedl § 9 Tad SUgad 3Tk &1 999 Bifeiy
1. ®dd C. D
2. PAUA.B.C
3.$ddB.C.D
4.®ad A.C.D

Options :



686340191189. 1
686340191190. 2
686340191191. 3
686340191192. 4

Question Number : 99 Question Id : 68634048398 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Use of trees and other woody perennials in association with agricultural crops. pastures or livestock on the
same unit of land 1s called

1. Social forestry

2. Agroforestry

3. Forest plantations

4. Joint forest management
Options :
686340191193. 1
686340191194. 2

686340191195. 3
686340191196. 4

Question Number : 99 Question Id : 68634048398 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191193. 1
686340191194. 2
686340191195. 3
686340191196. 4

Question Number : 100 Question Id : 68634048399 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 15 Geographical Information System (GIS)?

1. A system that collect plant specimens know different geographical locations.

[ ]

. A computer based system for the capture. storage. retrieval. analysis and display of a large amount of
spatial data.

3. A computer based application to collect weather data ONLY

4. An information system which publishes latest research papers on Geographical allied area
Options :
686340191197. 1
686340191198. 2

686340191199. 3
686340191200. 4

Question Number : 100 Question Id : 68634048399 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340191197. 1
686340191198. 2
686340191199. 3
686340191200. 4



